OPERACIONES CON RADICALES

Ejemplo:
Operacion
6-420 +2-/45-7-125 = - B v
esultado —
—6722 5424325745 =
Ej.
=6-2:4/5+2:3:5-7-5\/5=
Solucion —17/5
=12:J5+6-+/5-35-5=|-17-/5
Calcula:
Operacion
VI8 +3-4/2-/150 =
Resultado
A.
Solucion
220 -3-/45+44/5 =
Resultado
B.
Solucion
SV12 =43 ++/75 -27 =
Resultado
C.
Solucion
2./63 - “18 4112125 =
Resultado
D.
Solucion

COLEGIO EL ATABAL

Autor: Miguel Pérez Luque




227 275425 |2 =
377 s 625

Resultado

Solucion

(- i )-

Resultado

Solucion

(45 A -

Resultado

Solucion

(5v2-3)-(v3++2) =

Resultado

Solucion

(2\/7—3)2 -(2\/7+3)2 =

Resultado

Solucion

COLEGIO EL ATABAL

Autor: Miguel Pérez Luque




